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What is the number of edges present in complete graph K,

b.
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What is the maximum number of edges in a bipartite graph having ’
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raph contains m edges can b {ecomposed in
: 3 :

‘ . om-—1
v 1 wavs b.

d. None

e number ol ‘fii.a:niiv_eh'w.)-,»{f hr.’uulv‘.‘m\;.vu:omgyi(,!--‘;'_m.'»;:-ﬂi oI n verlices
Y <

b.
«. None ol th

leterminant of the adjacency matrix ol

None of th

or N numbers ol vi COS 1 numbob




12.

13.
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17.

Number of spanning tree of a graph of n vertices is

a. 0 b. 2

( 2" d. None

No of cycles in a connected planar graph having 6 vertices, 7 edgesis
regions.

a. 1 b. 3

c 5 d:7

A graph is self- complementary if it is isomorphic to its complement. For all self-
complementary graphs on n vertices,n is

a. Amultipleof4 b. Even

c. Odd d. congruenttoOmod4,orlmod4
A vertex which is not adjacent to every other vertex is called___vertex.
a. Isolated b. Pendant

¢. Incident d. Simple

Let nyand nz be the number of edges of graphs GandGarespectively, then the
number of edges of G1 U G2 if GjandG; are connected graphs

a. n, + n, b. n+n;—1

c. n, d. Ny

For a given graph G having v vertices and e edges which is connected and has
no cycles, which of the following statements is true?

a. v=e b. v=e+1
c. v+1l=e d. v=e—1
What is the radius of the Petersengraph

a. 2 b. 3

c. 4 d. None of these

Total number of trees with 5 vertices
A2 b 3
c. 4 d. 5

Which of the following statement is/are TRUE?
P: A cycle is walks with end vertices are same.
Q: A cycle is a path with end verlices is same.

a. P only b. Q only

¢. Both Pand Q d. Neither P and Q
A graph is called a if it is a connected a cyclic graph

a. Cyclic graph b. Regular graph

c. Tree E d. Trivial graph
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a. If A is the adjacency matrix with V = 5+5=10
{vy,v2,v3,. ...... ... v;}, then prove that for
any n = 1 the (i,j)th entry of A" is the number
of v; — v; walks of length n in G.

b. Prove that G with P vertices and § = "2;1 is
connected.
a. Find a minimum spanning tree for the weighted S+5=10

graph by using prim algorithm of the following
graph

b. List the order in which the vertices of the tree
given below are processed using pre-order, in-
order and post-order traversal.

A

a. Find the minimum spanning tree for the 5+5=10
weighted graph as given below by using
Kruskal algorithm

b. Find the value of the prefix expression
+—732123/8— 42
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